GALV. EMBED PL1/2" FULL HEIGHT OF GB
W/ 1/2"@ x 12" LG. N.STUDS @ 12" O/C
C/W GALV. PL3/8" INFILL TO FORM POINT

SL-1 INFILL AT CORNER
TO SUIT HOLLOWCORE -

PLACEMENT /\/

STEEL ANGLE
WELDED VERT. X R | = =========4F

@ -P"i
>

—

|
LAP ANGLES & COPE TO SUIT
COMPLETE PENETRATION WELD

ADDN'L 20M VERT.

ADDN'L HORIZ. BARS @ CORNERS
TO SUIT RADIUS

/"1 GRIDA' & '1' FOUNDATION PLAN DETAIL

@ 3/4" = 1'-0"

Lz 7/‘ _ _ _ _ _ R

o)
~
~
—

PERIMETER ANGLE
‘ PROVIDE MIN. 12' LENGTH FROM 'A’
EACH WAY TO SUIT CANTILEVER

/"4 GRIDA' & '1' ROOF PLAN DETAIL

@ 3/4" = 1'-0"

EXTEND OF CONCRETE
COLUMN ABOVE

MATCHING VERT. DOWELS
INTO CONCRETE COLUMN ABOVE

/"2 "\ GRID 'B' & '5' FOUNDATION PLAN DETAIL

EXTEND HORIZ. BARS
FROM BEAM INTO COLUMN

1-0"

|
\
ADDN'L 20M VERT.

/"3 GRID 'E' & '1' FOUNDATION PLAN DETAIL

@ 3/4" = 1'-0"

CC-2
SEE PLAN & SCHEDULE

/"5 GRID 'B' & '5' ROOF PLAN DETAIL

oo -

1!_0"

PL & GIRT

TSRS
RS

NEOPRENE GASKET BTWN

U/S ROOF DECK

O
O
~ SPACE FRAME BEARING
lOI - 4||
T.0. MASONRY
10'-31/2 — REFER TO ARCH
—~  FORSLOPE

13'-6 1/2"

PL3/8"
2 S
N4
11/2"

ADDN'L GALV. BENT PL
ALL EDGES

T.0. W8 FRAME

BPL16x16x3/4"
C/W 4-3/4"d ANCHOR BOLTS

W/ 2-3/8" GUSSET PL EA. SIDE

/7 SEE PLAN & SCHEDULE

THICKENED EDGE STRUCTURAL SLAB BYND.

8- 0"

CONT. PL3/8"x3" EACH SIDE /\

REFER TO ARCH FOR
HSS & PL LOC'NS, VARIES

FR-1 STEEL FRAME
SEE SCHEDULE

/10 FR-1 COLUMN SECTION

@ 11/2"=1-0"

STEEL DECK
SEE PLAN & SCHEDULE

1" GAP SOME LOC'NS
SEE ARCH

W/ PL3/8" GUSSET @ 2'-0" O/C

T.0. MAIN FLOOR

'

i N \ ©

wetaf ] A ]
ik I L
IR m ) 6" VOIDFORM BYND.

\
|
:
{
|
|
|
B!
]
I

T~ C.I.P. PILECAP

SEE PLAN

et}

74

STEEL COLUMN
SEE PLAN

|
STIFF. PL

STIFF. CORTEN PL3/8x2"

N\
%
@  BRIERERIEEEN
I N

\

HORIZ. GALV. L4x4x3/8" CONT. LEDGER
W/ 15M x 3'-0" LG. WELDABLE REBAR
C/W INSULATION SPACERS, REFER TO ARCH

TYP. PROVIDE 2"
EMBEDMENT

VERT. GALV. L4x4x3/8 x 12 LG. @ MAX. 3'-0" O/C
FAST. TO GB W/ 2-3/8"@ EXP. ANCHORS W/ 5" EMBEDMENT

/78 "\ SECTION THRU CANOPY
s2a) 1/2"= 10"

] REFER TO ARCH
FOR SLOPE :

OII

~ T.0. W8 FRAME

CONCRETE SLAB/SIDEWALK LOC'N, 1 THUS

8l _ 6"

T.0. MAIN FLOOR

A

BPL16x16x3/4"

C/W 4-3/4"@ ANCHOR BOLTS

W/ 2-3/8" GUSSET PL EA. SIDE

WRAP W/ 1/2" FLEXCELL & CAULK AT

' T C.LP. PILECAP

/“ - — = SEE PLAN
vt Il
g W
% v
o m
it
- /"7 SECTION THRU CANOPY

S-2A/ 1/2"=1'-0"

TYP. PROVIDE NEOPRENE GASKET
BTWN ALL CORTEN TO
DISSIMILAR STEEL TYPES

e
GALV. PL3/8x10x16" ot —

C/W 2-15M x 24" LG. WELDABLE REBAR HORIZ.

AT EACH GIRL @ 4'-0" O/C

W/ 3-3/8"@ GALV. A. BOLTS WELDED TO FACE OF PL
W/ NEOPRENE GASKETS

/"6 "\ GRID 'E' & '1' ROOF PLAN DETAIL

BENT CORTEN PL3/8x4x2"
Z-PROFILE @ 4'-0" O/C

@ 3/4" =1'-0"

2-3/8"03 S.S. A BOLTS
C/W NEOPRENE WASHER

Oll

STEEL FRAME

SEE PLAN & SCHEDULE
W/ FINISH AS PER ARCH

/11 SECTION THRU FR-1 @ ROOF DECK

\s2a/ 11/2"=1-0"

2-3/8" GUSSET PLATE x 5" HIGH
EACH SIDE

BPL16x16x3/4"

/"9 "\ FR-1 COLUMN SECTION

s2A/ 11/2"=1'-0"

W/ FINISH AS PER ARCH

C/W 4-3/4"d ANCHOR BOLTS

PL3.5x2.125x1/4" BENT PLATE

FR-1 STEEL FRAME
SEE SCHEDULE
W/ FINISH AS PER ARCH

C.L.P. PILECAP BELOW

2 ISSUED FOR ADDENDUM 3

2016.04.27

JCR

1 ISSUED FOR ADDENDUM 2

2016.04.27

JCR

0 ISSUED FOR CONSTRUCTION

2016.03.28

JCR

# REVISION

DATE

BY

WOLFROM ENGINEERING LTD

CONSULTING ENGINEERS
345 WARDLAW AVENUE
WINNIPEG,CANADA R3L OLS

(204)452—0041

FAX: 284—8680

E—Mail: info@wolfromeng.com

—APECI

Certificate of Authorization

Wolfrom Engineering Ltd.
No. 1156 Expiry: April 30, 2016

JOB TITLE

WINDSOR PARK

LIBRARY

DRAWING TITLE

CORNER FRAMING
PLAN DETAILS &

CANOPY SECTIONS

DRAWN BY SCALE
MNF As indicated
FILE NO. DATE
W15033 APRIL 27, 2016

DRAWING NO.

S-2A

REVISION NO. A






